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1-5. Events A, B are said to have P(A) = 0.7, P(B) = 0.4.

1. 1 P(B | if A)=0.2then PA Ny B)= « T 2 5, /¢
a) 028 b) 11 c)0.14 d) 0.96 e) 0.4
i

2. If A, B are independent then P(B | ifA) = P(BJ - ﬂ,?
a) 0.14 b) 0.28 ¢} 0.96 d) 0.4 e) 1.1
RooVRicE
3.1 P(A (\ana BY =0.2 then PA U B) = Pi)+ LB - FIANB)
@ 11 b 028 ¢ 04 d) 486 € 08 yp g~ 22,9

4. If P(A [ gna B) = 0.3 then P(B I if A) = %” 5’4 7h/

@) 043 b) 04 ¢} 014 d) 0.96 e) 0.28 —
Aa— ’

5. i P{A M ang B) = 0.3 then P(A M ang BS) =

a) 02 b) 01 ¢) 04 d) 07 ) 06
A
6-10. Given the following:
+
0.7
OIL 0.1
+
0.2
olL®
-‘\{

14-16. One play of a lottery has random return Y with;

EY=23

Variance ¥ = 4 (so standard deviation = 2).
14. Determine the expected total return from 100 independent plays.
a) 400 b} 20 ¢) 0.03 d) 200 e) 300

a) 400 b) 20 ¢) 0.03 d) 200 e} 300

/09 £Y =200
15. Defermine the Variance of the total return from 100 indel endent plays.

L0 Vakwnes = Y0

LvEN Bs
7. P(OW. (g +) =

a) 07 b) 0.28 c) 025 d) 0.07 €) 0.01 ,) c?-‘f. ﬂ?

8. P+) = Pon+) + Rv'(c'f):tl ‘ 7'{'.7,2?2{

a) 0.7 b) 0.28 c¢) 0.25 d) 0.07 e) 0.01
ll [ :'02’

9.P0|Li+=F/@’(-/ 1) =
oL { it +) )/ ¥ 2y

6. P{+ | if OlL) =
a) 0.7 b) 0.28 ¢) 025 d) 0.07 e) 0.01
A

a) 0.7 b} 028 ¢) 025 d) 07 e) 0.01
~———

10. Suppose that: Cost to test is 50.
Cost to drill is 100, .
Gross retum frpm drifling for oil, when itis present is 1200,

For the contingency OIL= determine the NET return from the policy: + 0

“test, but only drill if the test i§ + . -@
a) -150 b) 1150 ¢} -50 d) -250 e) 950 -

}1%0 0 180 g 20 ) TEST DY
11-13. A random variable X has the following probabillity distribution:

X plx)
0 0.5
1 04
4 01

1. P(X<2)= /o) t+P7 = 'q

a) 0.95 b) 05 c} 0.1 d) 0.6 e} 0.9

;3?'2?5)(?)) 09 c) 22 d) 0.8 ¢) 1.67 21:2’P/79: /0:5 |

A
. - N 1 )
13. Variance X=E)*-(EX?= 2 =,

a)1b)1.62¥/9._l4;£d)527e)3:[’}( ?’- ’é
; X PH=0" S
Z

~16. The prdbability distribution of the total return from-100 independent plays is approximated by a

bell curve. What are the mean and standard deviation (not variance) of this bell curve?
a) (300,20} b) (400,200) o (0.03, 20) d) (300,200} e) none of the others

17. (unrelated to above) Here is a sketch of a bell curve with mean 20 and standard deviation 4.

D70 =12

What is the approximate probability of the interval [20-4, 20+4]? Use the rule of thumb given in
lecture for the probability captured by any bell curve within one standard deviation of its mean.
04}

03k

{Led 3

a1l /
4

= -]

J= [

£3

a) 046 b) 068 c) 0.95 d) 0.75 e) 0.5
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